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_ three: 6 each ELECTRICALENGG./ELECT. & ELEX. ENGG.
8. Write short notes on any three: SCHEME JULY 2008
i) Shaded pole motor | ELECTRICAL MACHINES - I
ii) Synchronous condenser
iii) Universal motor Time : Three Hours Maximum Marks : 100
iv) Capacitor-start and run induction motor Note : (i) Attempt total six questions. Question No. 1
g v) Cooling of alternators (Objective type) is compulsory. From the
- ' ¥ R dfrq Reooft fomti remaining questions attempt any five.
P 3 W - T B: T T A0l 9 FAE 1 (FgHE
S §) oiw g A= R ) rer ¥ | A e 3§ R da
3 i) ger R (FW) & Hir|
§ o (ii) In case of any doubt or dispute, the English
i) T SR . version question should be treated as final.
iv) St e T g T A Rt & YR F W o R A Rl
v) werad @ e | A s & W R SRR [ S
| |. Choose the correct answer : 2 each
T WO~
W TR H TEA HAACY

i) A é6-pole, 3ph, 50 Hz induction motor is running
at a speed of 950 r.p.m. What will be the rotor

frequency ?
(a) 2Hz (b) Shz
s c) 2.5 Hz " (d) 0.5Hz
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Turbo-alternators have rotors of

(a) Small diameter and long axial length
(b) Large diameter and small axial length
(c) large diameter and large axial length
(d) Same diameter and axial length

gdl-yamEdS W A B B

()% g AR aftre wfm g
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iii) The rotor of 3-phase‘induction motor-

(a) Always revolves in the direction of stator
flux

(b) Always revolves in the direction opposite to
stator flux

(c) Insufficient data
(d) None of the above
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iv) The starting winding of a single-phase induction
motor has -
(a) more poles than that of main winding
(b) less poles than that of main winding

(¢) same number of poles as that of main winding
(d) None of the above

Ul SRUL R A AR FOEHA A A ¥
(1) gEa Foselt ¥ HoF A
() F&7 Fooelt & ¥ T
(31967 Fooell F TUR A HEA
() R & | 3 T
v} A synchronous motor runs at only one speed
(i.¢. synchronous speed) because it ...
(a) has no losses
b7 is a doubly fed machine
(¢) has a damper winding

(d) none of the above
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TF JaTHN At Fad O & 1 (g 1R)
T T ? Fi b) Write the advantages of 'Skewed rotor slots’ ofa
: irrel cage induction motor. 0
# wif ad & ¥ SR
( )zaa’j:mmﬁﬂ(ﬁa)% Riover Y o AR ¥ Toren A Wi W &
. T T
(a) 7ol T Foewt Wit Ot X .
(3) R 7 | B T a) Whatare the advantages of slip ring motors over
squirrel cage induction motors? 6
a) A400v, S0Hz, 6-pole, 3, induction motor runs Riorer wredy Shon sivex @ g & feem R A &
g ?‘:-i 9t5.0 rplm and ?e};e;ops;4;9;2 k\;v. If windaigiﬁ 1 A 2?
. ction losses . and stator losses are : L -
: : _ b) Whatis the need of starter in an induction motor?
'g fl)nd ;‘h thelPower factor is 0.85 then calculate Explain with neat sketch DOL starter. 6
5 R | 12 Qﬁﬁaiqﬁa(mﬁ%}ﬁmm%‘?
o ii) The rotor copper (cu) losses 3 o b 2
5 iti) Input power and P @t e e
iv) Line current Al .
W 6-44, 3-% 4063@_’ 50 7 IROT ReX 950 ¢) What is hunting in alternator? How it is be
—’ el ol overcomed? 6
ANR. ® o T ¥ 3 14.92 kw i Rl 4 2 e 2 2 5 o
R 2 AR g & wdo A | e e %7 = ' TR
A 01 7@ &1 AR I gk o6 0.85 A R '
Frafwia #1 w7m s AF-
: ™ . a) Explain working principle of 3-¢ synchronous
i) fem i) e ani = motor. 6
i)PRe @ iv) 7R v ¢ geaTAl et 1 el Reard W
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b) Derive e.m.f. equation of an alternator. 6

RIS 1 ‘TgA TEE T T YA Y
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¢) Differentiate salient pole and non-salient pole ¥ 7z TaEdE 0.8 Wik qeaell T W
lternators. 6 ™ :
aem;m - P dreean W ol W e Bl A S SR & T
3 1 3 0.8 9ifeR U SRR W, Y01 IR &R T4 oF N
A Freea P T i
a) Explain double field revolving theory. Draw b) What are the methods of starting synchronous
torque speed characteristics of 1-¢ induction motor? Explain in brief. 8
g motor and write applications. 9 T e? F TR (start) R A DT R
-8 TRy Rt A TR TEA-I SR Rt ¥ ddw & wEE
: i W AW ot afimew B aEa aw
] R , il 5 ! o _ . 2) Whatare the conditions of paralle! operation of
g b) Explain working principle of repulsion motor and alternators? Explain the necessity of parallel
write its applications. 9 operation of alternators. 8
sfereior A 3 T R 1 W T e # W T S @ o
v feRe YR ) i S B ST ) S
a) A-3 phase, 1200 kva, 6600 volt, star-connected b) Draw and :axplain torque-slip characteristics of
alternator has resistance of 0.4Q and 3-¢ induction motor. . X
synchronous reaciance 6Q per phase. This Fipe TR0 A ¥ am-amgut-Ra’ afrerl
alternator supplies full load at 0.8 p.f. lagging Ry T Sl
and at normal voltage. Then at same excitation Derive the torque equation for 3-phase induction
and 0.8 p.f. leading find full load current and full ¢) Derivethetorqueeq P ]
load voltage regulation. 10 motor.
F/2013/6235 Contd..... F/2013/6235 PT.0.

www.rgpvonline.com



